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You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered any data in the web or you do not possess the required qualification as
per our advertisement, your candidature will be rejected.
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The Question paper is in the form of Question Booklet with 5 parts viz., Part A to Part D with 60 objective
type questions (1 mark each) and Part E with 4 Descriptive type questions (10 marks each) .
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A separate OMR answer sheet will be provided for answering the Objective Type Questions and separate
answer sheet will be provided for answering Descriptive Type Questions.
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You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen only as per the instructions on the OMR answer sheet. The descriptive type
questions must alse be answered in blue/black ball point pen only in the separate answer sheet provided
for the purpose.
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Question booklet series code printed on the right hand top corner should be written in the OMR answer
sheet in the place provided.
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Enter your Name and Roll Number correctly in the question booklet.
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Multiple answers for a question will regarded as wrong answer. No negative mark will be given to wrong
answers.
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You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
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Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc. will not
be allowed inside the written test hall.
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On completion of the test, tear the OMR answer sheet along the perforation mark at the top and
hand over the original OMR answer sheet & the descriptive answer sheet to the invigilator and
retain the duplicate copy with you.
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The question booklet can be retained by the candidates.
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Candidates are not permitted to leave the examination hall during the first hour of the examination.
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HTT TPART-A

TS U ST/ GENERAL ENGLISH & GRAMMAR

. “Walking along the street, we saw the tree on our right.” Subject of the above sentence is:

a. Tree b. We c. Street d. Our
Fill in the blanks: One in six this issue
a. Has - b. Have ¢. Hasn’t d. Haven’t
Everything but the books been despatched.
a. Have b. Has c. Is d. Was
Fill in the blanks: It is a festival that happens every two years.
" a. Biennial b. Biannual c¢. Either aor b d. Neither a nor b

Find the correctly spelled word

a. Tennent b. Subtlely ¢. Supercilious d. Harrass

Select the correctly spelled word

a. Obesisance b. Obesance ¢. Obeisance ; d. Obsienance

Choose the correct sentence from below:

a. He is too suspicious character b. How are you doing?
c. IwishIwasrich d. He said her the whole story.

Find the sentence closest in meaning to “I am going to the Capital. I wanted to find a
B>

I am going to the capital to finding a good job

I .am going to the capital will find a good job

I am going to the capital for finding a good job.
I am going to the capital to find a job.

po oo

Fill in the blank
The small child does whatever his father

a. Has done b. did ¢. had done d. does



Read the passage carefully and answer the questions that follow:

Passage

Forthwith a change came over the waters, and the serenity became less brilliant but more
profound. The old river in its broad reach rested unruffled at the decline of day, after
ages of good service done to the race that peopled its banks, spread out in the
tranquil dignity of a waterway leading to the uttermost ends of the earth. We looked
at the venerable stream not in the vivid flush of a short day that comes and departs
forever, but in the august light of abiding memories. And indeed nothing is easier for
a man who has, as the phrase goes, ‘followed the sea’ with reverence and affection, than to
evoke the great spirit of the past upon the lower reaches of the Thames. The tidal
current runs to and fro in its unceasing service, crowded with memories of men and
ships it had borne to the rest of home or to the battles of the sea.

10. Theme of the passage is

a. A village b. Ariver c. Winter evening d. None of the above

11. *august light’ in this context means

~a. Light of the evening b. Light of the month of August
c. Pleasant light d. None of the above

12. Which statement may not be inferred from the passage

a. Author is watching the river

b. Ships have come and gone from the banks of Thames in the past.
c¢. Author is watching the river in company of one or more people.
d. Author used to watch the river in his youth.

13. For whom is the phrase “crowded with memories of men and ships” referred to in the
passage

a. Author b. Tidal currents c.. Ships d. None of the above

14. Complete the following sentences by inserting in the blank spaces the most suitable word
from the choice given after cash sentence. The mine caved in so it had to be

a. left b. closed c. avoided d. abandoned

15. T am so impressed by the philosopher’s teachings that I have decided to become one of
his

a. students b. followers c. disciples d. adherent
16. After making all necessary arrangements the boys set out on their to the
countryside.
a. pilgrimage b. excursion c. journey d. voyage
17. The soldiers down the street smartly.
a. Trudged b. Strolled c. Walked d. Marched



18.

19,

20.

21

22,

25

I enjoyed the of remaining in the forest bungalow all by myself.

a. loneliness b. Quietness c. Solitude d. separateness.
I have my pass and cannot remember where I put it.

a. misplaced b. Lost c. senile d. elderly
The man was so drunk that he out of the bar

a. walked b. crept c. staggered d. ran

AT _S/PART - B
o1 1 M1 G O
GENERAL KNOWLEDGE AND REASONING ABILITY

HEAT 5 BMEE nongw v s 4 4.0 5 sociss af g1 Age of the Earth dates back to

a. 2.6 billion years b. 4.6 billion years

c. 6.6 billion years d. 13.6 billion years

grew W Sesl 7 Afe T By GO 6T q99 UEAT SOUE fREd wOie R

World’s first satellite dedicated to monitoring Greenhouse Gas Emissions was launched
by: '
a. 9rea/India b. Fuaw/USA c. smare/Japan d. wiw/France

Fufvfee & & e o 7 3f 2010 & wa 5 44 9w Salemedt v sy &

e w3 g AR RE e & o

Which of the following committees submitted its report in 2010 recommending de-
recognition of 44 Deemed Universities in India

a. FgaTe FTa/Yashpal Committee b. Z=7 =wfwf@/Tandon Committee
c. TeEwT wiafe/Rajamannar Committee d. smETer gEfaAgrawal Committee

. B ad wg weew T st R (SEieE) f wmoer fR

In which year did the Govt. of India set up the Department of Space (DoS)?

a. 1962 b. 1969 ¢ 1972 d. 1975
TEA #, A o UIgeE (TAER) IWq, WaTed WA Ud ger et ¥ e sg wnr
ST W B AR R AT T ... .. AT FgT ATAT 2

In telecommunication, Long-Term Evolution (LTE) Advanced is a standard for high-
speed wireless communication for mobile phones and data terminals, and is also termed
as

a. 2G b. 3G c. 4G d. WiMax

. TSTEAT F TR qTT FIH E2

Who is the ex-officio chairperson of Rajya Sabha?

a. |HEAT & arewar/Speaker of Lok Sabha

b. T F ITIEAfd/Vice president of India

c. fe=sft & ez madv/Lieutenant Governor of Delhi

d. 9T 1g dEew F wfi/Minister of Home Affairs of India



27. % wtar ¥ RBEE Td WRoF WY adE qR@aW §7 a7 oaqses Few & w1 ¥ s
FAT 87
Which Article of the Indian Constitution serves as a Directive for development and
spread of the Hindi language?

a. s==a/Article 370 b. sg=aw/Article 265
c. F=a/Article 351 d. s=sE/Article 48

28 . Mufafeg & & B vuw awve Tifery &1 w1 afdsee 3 s & o
Who among the following discovered and developed one of the first successful polio

vaccines?
a. g "reH/Jonas Salk b. seieT wifi/Alexander Fleming
c. a0 urey/Louis Pasteur d. wi®w® f&/Francis Crick

29. ‘wrd weee’ U SrETEadT fRE getim &7
What does the term ‘fourth estate’ generally refer to?

a. femrs/Legislators _b. =nfurerr/Executive
c. =rieEyJudiciary d. ¥&/Press

30. fRefefed 2ot & & 19 gamses fRew (g &) = fRwr 727 &2
Which of the following countries is NOT part of the United Kingdom (UK)?

a. swee/England b. ®wfediz/Scotland
c. EwTH/Denmark d. a=a/Wales

31. FRefafes omwt § § f0-97 =, 9w Bagg § W 9o W e 9wt &9
& A AT g § A 32
Which of the following monuments was built in memory of soldiers of the Indian Army
who lost their lives during the First World War?

a. =247 e/India Gate

b. T 7 &% fEAT/Gateway of India

¢. Jemw FX FEEw/National War Memorial
d. Fsmaa/VijayPath

32. Fufefem & & w99 95 sW-Ht e sroer gAeT gro g e

Which of the following nuclear disasters was initiated primarily by a Tsunami?

a. swiraa/Chernobyl b. wFreET/Fukushima
c. ot mrzw amsae/Three Mile Island d. wrae=/Kyshtym

33 ‘S’ FT HEY FEH W, TEI TR L AW ...
‘Writing’ is to “pen’ in the same way as:

a. TA¥ %7 ¥ag @i 4/Singing is to music
b. ff=TE &1 "€y g€ T/Stitching is to needle
c. T &1 Hayg =™ A/Dancing is to exercise
d. @8% =+ "y siwe #/Carpenter is to tools
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34, Mwleles o § § SR 0F @R ¥ 99 § 97 UF 9 I §1 5% F & sH-a7 9%
g ST SH oyT ¥ g smam
Four of the following five are alike in a certain way and so form a group. Which is the
one that does not belong to that group?

a. IAes/Bat b, #wwsi/Spider ¢. w=gv/Mosquito d. Rasfi/Butterfly

35. o &t W F gu, g ¥ R, CSUw 3¢ T REr A9 9 =T ame 2
qufe e ywr 3w wiger & w@«4fia &2
Pointing to the lady in the photograph, Mrinalini said, “Her son’s father is the only son-
in-law of my mother”. How is Mrinalini related to the lady?

a. @g/Sister b. AT@/Mother  c¢. #E/Aunt  d. wfr g %1% Tgi/None of these

arr_f/PART-C

HAPMO/ARITHMETIC

TF ¥, 36 T¥ 37 ¥ g A3 v@s der oot § uw o denr & w8 41 w9 deaw w+w
QT W

Direction for Qn. 36 and Qn. 37: In each of the following number series a wrong
number is given. Find out the wrong number.

36. 2 4 8 16 32 64 124 256 512

3.9 b. 124 c. 54 d. 18
37. 7 8 18 57 228 1165 6996
a. 8 b. 18 8.7 d. 228

38. srerrh AR H AT i @ge @A w36, 42 FAT 72 A% ¥ aewdr w@dr 3 R smer
T gEe &% 9.00 IS W (AW AT ST &) Wt F, 9 97 uw 9vy 6w gww g=eniy
On Ashok Marg three consecutive traffic lights change after 36, 42 and 72 seconds
respectively. If the lights are first switched on at 9:00 A.M. sharp, at what time will they
change simultaneously?

a. 9:08:04 b. 9:08:24 c. 9:08:44 d. None of these

39. 2+ 17 =335 %1 g+
Solve V7 + 172 =335

a. 46 b. 42 c. 1764 d: 2116

40. TH U UE TeRl AF K ¥4 F FowEdr wgxrd 8 F.#Y. gouv wmewr ud =w 10 ¥+ g,
ST X ¥ GAT g B TEE Hg I% TET 90 T ) w@ 0.5 &%, e anh v o w5
I F T ST g q@ S wv 1/4 aex fRar g1 ue F e v gaer o §ww s o9
ST
A vessel is in the form of an inverted cone. Its depth is 8 cm and the diameter of its top,
which is open, is 10 cm. It is filled with water up to the brim. When bullets, each of
which is a sphere of radius 0.5 c¢m, are dropped into the vessel, 1/4 of the water flows
out. Find the number of bullets dropped in the vessel.

a. 50 b. 100 c. 150 d. 200
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. TE ogw H Bsar 9 4.4t T F uw far ft st 14 . 2 ¥ ¢ et ¥ fiw
g FT AT gl

The radius of a circle is 9 cm and length of one of its chords is 14 ¢cm. Find the distance of
the chord from the centre.

a. 5.66%.497./cm b. 6.3 F.9./cm c. 4%.4r./cm d. 7¥.9./cm

42. TF FETER 2 3 Hiex f FAR qF A@AER g TAT ITH FUC AP g AR TEWHT ;T

43.

44,

46.

47.

105 #ft. war owdir Rafy & =l S 53 . &, ofem 3= & Mwfo &g 5 . =1
FeaTe T @GS HOqRGHAT F

A circular tent is cylindrical to a height of 3 meters and conical above it. If its diameter is
105 m and the slant height of the conical portion is 53 m, calculate the length of the
canvas 5 m wide to make the required tent.

a. 3894 #t./m b. 973.5#./m c. 1947 #t./m d. 800 #t./m

A ATATG 36 THR § 99 [F T GEiaE AT (T UH) U 49 6 ¢ U ¥ ogae §1 Shf
BT o g% 5 d Bashanry 2l

Four quantities are such that their arithmetic mean (A.M) is the same as the A.M of the
first three quantities. The fourth quantity is

a. wgq o7 AT w1 Intea/Sum of the first three quantities
b. o7 @ wETE F1 € w/AM of the first three quantities
e
d

. (9w A7 "t w1 awwe) /4 / (Sum of the first three quantities)/4
. (s @7 "qEwET # AEwe)/2 / (Sum of the first three quantities)/2

P ud Q &t 99 @ ¥ &9 &7 aqag 3:4 & IR STH oy # aqud I g1 F oA
7:9%, @1 Q # Tdw wrg w82 |
The ratio between the present ages of persons P and Q is 3:4. If the ratio of their ages

after four years becomes 7:9, what is Q's age at present?

a. 24 ad/years  b) 30 ad/years  c¢) 28 ad/years d) =% & #rE 7gl/None of these

AT quiEr 27 7 93 9% ww e w, W # 9t o aifdw #| s demred v

EERITE 1 A BT
Consider the sequential integers 27 to 93, both included in the sequence. The arithmetic
average of these numbers will be

a. 61.5 b. 61 ¢. 60.5 d. 60

AL FAF AFAT F AT AWT HT FATE A oaqua 2:3 F, AT T Bear &1 o
......... g

If two cylinders of equal volume have their heights in the ratio 2 ; 3, then the ratio of
their radii is

g AT A b. 2:3 C.\/Eix/g d. V6 : 3

et & o Far g8 fBuw &

Which of the following is always odd?
a. &1 fSwmisl &1 FTEe/Sum of two odd numbers ,
b. & FBwmtsi =1 simy/Difference of two odd numbers
c. & TuwiE w1 EEe/Product of two odd numbers
d. =79 ¥ =% TEi/None of these



48. ¥ gog ¥ 40 WOU¥ g W W T Tw Fos IS wddn sEw @iy T ¥ ¥ 30
T afdw AT W T 9 fEm d@fFT gew @ oo wfem @i S of
Sundar purchased a wrist watch with 40 percent discount on the labelled price. He sold it
with 30 percent profit on the price he bought. What was his percent loss on the labelled
price?

a. 18 B 22 e. 16 d. 24

49. wt7-u1 o 0.20 % F | 29
Which fraction is equal to 0.20 % ?
a. 1/20 b. 1/50 c. 1/400 d. 1/500
50. T wE TH w7 A9« wOw F FA: 20% UE 36% FW F WG FT AT T F AT ¥ haey
gidera atfaes &2
The salary of Raju and Ram is 20% and 36% less than the salary of Saroj respectively.
By what percent is the salary of Raju more than the salary of Ram?

a 33.33% b 50% c. 20% d. 25%

qET-S/PART- D

FH_THE/COMPUTER LITERACY

S1. =fw-# S s & fe T s F affes fer s oaswr 2
Which programming languages are classified as low level languages?

a. COBOL b. FORTRAN - «¢. C, C++ d. Assembly languages

52, ®= ArgE FogeRl ¥ waw 89
Who 1s father of modern computers?

a. s Rrwa/Abraham Lincoln b. s wefe/James Gosling
¢. =req awi/Charles Babbage d. M7 € g¥Gordon E. Moore
53 ASCH uwinesns &t giwa #war g1 ASCII stands for

a. American Standard Code for Information Interchange
b. American Stable Code for International Interchange

¢. American Standard Case for Institutional Interchange
d. American Standard Code for Interchange Information

54. g E FET T AT TEF ... |
Chief component of first generation computer was

a. f9aiq &[@ ud awa/Vacuum Tubes and Valves b, =ifeweew/Transistors
c. Thiga whaw/Integrated Circuits d. 37w =4/All of above

55. fRreferem & & wewwr w1 S @ wwE e 82
Which of the following is the smallest measure of storage?

a. &Uarge/Terrabyte b. fowmaTEe/Gigabyte
c. feraTze/Kilobyte d. =rse/Byte



56. Trae THeETse UF WETEE & 999 87
How many kilobytes are equal to one megabyte?

a. F{a=/About 100 _ b. #=/About 1000
c. wem/About 10,000 d. =0=/About 100,000

57. 3g w07 Wt “C” &1 sufaswre e B
Who invented the high level language “C”?

a. sferg ww f=/Dennis M. Ritchie b. fweta Ra/NiklausWrith
c. ¥gaY §9d/Seymour Papert d. gmTeg F=/Donald Kunth

58. =TT dawwr Wi &1 RS w9 g B dudier & oswEer e ST 82
What parameter is used to specify data transfer speed?

a. bps b. dpi . c. ppm d. MHz

59. Refefee & s STam aigew 7 Rulgew § [ B smar 22
Which of the following is used for modulation and demodulation?

a. "wrea/Modem b. wEmE=/Protocols
c. weer=mae/Multiplexer d. =A/Gateway

60. e & fafdy wer s v &
What is the Super Computer developed in India

a. #CRAY b. T@/PARAM
¢. (A)3 (B) ==i/Both (A) and (B) d. 3w & ¥ #15 7Ei/None of the above

AFT-2/PART-E
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Ta qrex T wfE w1 SRR §2

Fafofea asg % @ B oof

T

Fefafer & & @ o Boy o FEy &R (10 Marks)
a) 7 a9 (Global Warming) ¥ =%

a o p

w

il

8 80

SR

o



AR T

qaF qET H Tt §E g% gHeTEr & [Fuy ¥ i guwmER F odues v ox Rm

T
AT MET F AL WAET K GEHET FT FHC AR R Fow w7 o @ (10 Marks)

FEOARD FT FEQ@ A TW 9 A AN AT owdEw I Twm A ) w@ed o 3 @
arew & T, waﬁa%ﬁﬁmﬁmwﬁﬁgﬁﬁ%w%a@ﬂmﬁﬁw
= Rafq 1 IudieETe Fga §1 SUdwER F RThe Wosw gate 9sw & § Rt
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afgEE FWU, SET AR GgEO FT IEa-d@ w@reaet fr 7 X @sr F 3w Shamew
oAt ¥ IRE AT F owgEw d@r T S sfhew ¥ v =9 ¥ R S R
2 o fm oA gl § ofirh ReRe s oy aRw ¥ R wiwor & s @
wiwE @ fwre Reer @i @ 81 aEfra-fea uw T & Reer 8w @ o
e fadwsw R suwErEe § wfEes w1 uE At wrew §) 9 § areteer R
T AT fUgelt @at ar= 204 @€ F gl 39w F el 2R A gan wd uEer we
% Uy Al S SugTey g ¥ ©iud arer ToRT Twd o

(106 Marks)
SRw T A uEEe A R wi ¥ ad swe d@r § R
AT g S A @RS U THGT FIA AT AET W OFT FROT L2

IJusreerare e wea 37

afgEE 9T # e oagEw fer R g

AL 1T IOAETET & ORage &1 @s0g agg fre-ar 87
TR s R Ze f7 T =@ qE wr a?
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